Precedt

Maqueen Mechanic

Installation Manual



P1

‘g Part List

&

7
X2

@ Loader Servo Panel @ Loader Bucket @ Pan-tilt-zoom @ Trolley Plate
Mount Plate

X3

@ Ultrasonic Mount @ Arm Servo Base @ Arm Baseplate @ Arm Linkage
Holder

X2

@ Arm Plate @ Servo Arm Linkage @ Forklift Plate @ Gripper Upper Arm



\e,

Part List

ol

C

@ Gripper Driven
Forearm

\

X2

@ Gripper Servo @ Gripper Panel @ Gripper Triangular

Mount Plate

\

X2 X3

@ M3*35mm Copper
Bolt

Forearm
‘ X6 |

@ M3*15mm Copper
Bolt

@ M3*25mm Copper
Bolt

@ M3*18mm
Copper Bolt

@ Servo

@ M2.5*5mm
Screw

@ M3*5mm
Screw

P2



g Assemble and Install

Loader Bulldozer Forklift

Pan-tilt-zoom
Mechanical Beetle Mechanical Beetle Pan-tilt-zoom Forklift

P3



Multi-Purpose
Engineering Vehicle(MPEV)

Assemble and Install ‘e’

Liftable
Mechanical Beetle

P4



Install Loader

BS



Install Loader ‘e‘

4 h 4 A

/I\/B*Smm Screw

=

M3*5mm
Screw

\ V. \ V.
@ Step1 @ Step?2
( M3*15mm \

Copper Bolt




Install Bulldozer

P7



Install Bulldozer ‘e‘

P8



P9

‘5 Install Forklift




Install Forklift ‘e‘

/
=/

M2.5*5mm S/crew
\ y.
@ Step1
( A




P11

‘g Install Forklift

M3*5mm
Screw
\_ A
@ Step5
( @ )
it i
Ml e J: f
(i
M3*5mm Screw
@ Step7

/!

3 & M2.5*5mm Screw

’

iMS*Smm Screw

A

@ Stepb

M3*15mm
K Copper Bolt

@ Step8



Install Mechanical Beetle ‘e‘

P12



Install Mechanical Beetle
-

M3*5mm \ ( ' \
eT; '-',I 5 Screw & o i
V S 1LV,

k E ) k u!\/B*Smm Screw )
@ Step1 @ Step2

( M2.5*5mm \

( Screw W

\ Y, \ Y,

® Step3 @ Step4

P13



Install Mechanical Beetle e’

/~ M3*18mm Copper Bolt—. )

!

~N

W

M3*15mm s o

l\_ ‘ 'y

4 N
¥
;:rMZ.B*Smm
\_ Screw Y.
@ Step5
4 N
\_ A
® Step7

Copper Bolt

@ Step8

P14



‘5 Install Pan-tilt-zoom Mechanical Beetle

IETTET

M3*5mm Screw

Side View E

M3*35mm
T Copper Bolt

P15



Install Pan-tilt-zoom Forklift ‘e‘

Diagram

M3*5mm Screw

Side View ';

M3*35mm
Copper Bolt

P16



‘g Install Pan-tilt-zoom Loader

Diagram

M3*5mm Screw

Side View

; i M3*35mm

rCopper Bolt
L

P17




Install Rotating Forklift ‘e‘
Diagram

M3*5mm ScreW*L\—L
j Ly

&M?ﬁ%mm
e Copper Bolt

P18



‘@' Install Loading Truck

M3*5mm Screw

P19




Install MPEV ‘e

Diagram

P20



P21

g Install Liftable Mechanical Beetle




Install Liftable Mechanical Beetle g

Diagram

M3*5mm Screw

P22



Welcome to
www.dfrobot.com
for more details



